On the relationship between a $2 \times 2$ matrix and second-order scalar spectral problems for integrable equations

This article has been downloaded from IOPscience. Please scroll down to see the full text article. 2002 J. Phys. A: Math. Gen. 35 L13
(http://iopscience.iop.org/0305-4470/35/2/101)
View the table of contents for this issue, or go to the journal homepage for more

Download details:
IP Address: 171.66.16.106
The article was downloaded on 02/06/2010 at 10:04

Please note that terms and conditions apply.

## LETTER TO THE EDITOR

## On the relationship between a $2 \times 2$ matrix and second-order scalar spectral problems for integrable equations

A M Kamchatnov ${ }^{1,2}$ and R A Kraenkel ${ }^{2}$<br>${ }^{1}$ Institute of Spectroscopy, Russian Academy of Sciences, Troitsk, Moscow Region 142190, Russia<br>${ }^{2}$ Instituto de Física Teórica, Universidade Estadual Paulista, Rua Pamplona 145, 01405-900 São Paulo, Brazil<br>E-mail: kamch@isan.troitsk.ru and kraenkel@ift.unesp.br

Received 14 August 2001, in final form 9 November 2001
Published 4 January 2002
Online at stacks.iop.org/JPhysA/35/L13


#### Abstract

A simple proof is given that a $2 \times 2$ matrix scheme for an inverse scattering transform method for integrable equations can be converted into the standard form of the second-order scalar spectral problem associated with the same equations. Simple formulae relating these two kinds of representation of integrable equations are established.


PACS numbers: 02.30.Ik, 02.30.Jr

It is well known that many integrable partial differential equations can be expressed as compatibility conditions of two linear systems represented by $2 \times 2$ matrices. First introduced by Zakharov and Shabat [1] for integration of the nonlinear Schrödinger (NLS) equation, this approach was generalized by Ablowitz et al [2] and by Wadati et al [3] to many other integrable equations. We shall write the $2 \times 2$ systems in the form

$$
\begin{array}{ll}
\Psi_{x}=\mathbb{U} \Psi & \Psi_{t}=\mathbb{V} \Psi \\
\Psi=\binom{\psi_{1}}{\psi_{2}} & \mathbb{U}=\left(\begin{array}{cc}
F & G \\
H & -F
\end{array}\right) \tag{1}
\end{array}
$$

where the matrix elements depend on the field variables of the equations under consideration, and so the spectral parameter $\lambda$. The condition $\Psi_{x t}=\Psi_{t x}$ yields at once the evolution equations in the general form

$$
\begin{align*}
& F_{t}-A_{x}+C G-B H=0 \\
& G_{t}-B_{x}+2(B F-A G)=0  \tag{2}\\
& H_{t}-C_{x}+2(A H-C F)=0
\end{align*}
$$

which may be specified by the proper choice of the matrix elements. Some general properties of these equations can easily be formulated in terms of the so-called 'squared basis functions' (see, e.g., [4]). If ( $\psi_{1}^{+}, \psi_{2}^{+}$) and ( $\psi_{1}^{-}, \psi_{2}^{-}$) denote two basis solutions of the linear systems (1), then we define the squared basis functions by the formulae

$$
\begin{equation*}
f=-\frac{\mathrm{i}}{2}\left(\psi_{1}^{+} \psi_{2}^{-}+\psi_{1}^{-} \psi_{2}^{+}\right) \quad g=\psi_{1}^{+} \psi_{1}^{-} \quad h=-\psi_{2}^{+} \psi_{2}^{-} \tag{3}
\end{equation*}
$$

As follows from (1), they satisfy the equations

$$
\begin{array}{ll}
f_{x}=-\mathrm{i} H g+\mathrm{i} G h & f_{t}=-\mathrm{i} C g+\mathrm{i} B h \\
g_{x}=2 \mathrm{i} G f+2 F g & g_{t}=2 \mathrm{i} B f+2 A g  \tag{4}\\
h_{x}=-2 \mathrm{i} H f-2 F h & h_{t}=-2 \mathrm{i} C f-2 A h
\end{array}
$$

which have the integral of motion

$$
\begin{equation*}
f^{2}-g h=P(\lambda) \tag{5}
\end{equation*}
$$

where the integration constant can only depend on the spectral parameter $\lambda$. (In particular, periodic solutions of the evolution equations are distinguished by the condition that $P(\lambda)$ must be a polynomial in $\lambda$.) It is easy to prove also with the use of equations (2) and (4) the following identities:

$$
\begin{equation*}
\left(\frac{G}{g}\right)_{t}=\left(\frac{B}{g}\right)_{x} \quad\left(\frac{H}{h}\right)_{t}=\left(\frac{C}{h}\right)_{x} \tag{6}
\end{equation*}
$$

which can be considered as generating functions of the conservation laws of the evolution equations under consideration. Another form [3] of the generating function of conservation laws can be formulated in terms of the ratio of two basis functions:

$$
\begin{equation*}
\Gamma=\psi_{2} / \psi_{1} \tag{7}
\end{equation*}
$$

As follows from (1), this function satisfies the equations

$$
\begin{align*}
& \Gamma_{x}=H-2 F \Gamma-G \Gamma^{2}  \tag{8}\\
& (F+G \Gamma)_{t}=(A+B \Gamma)_{x} \tag{9}
\end{align*}
$$

where equation (8) yields the recursion relation for coefficients of the series expansion of $\Gamma$ in inverse powers of $\lambda$ and hence equation (9) gives the generating function for the conservation laws.

On the other hand, there are many equations (e.g. the Korteweg-de Vries and KaupBoussinesq equations) whose integrability follows most directly from the compatibility condition of two scalar equations:

$$
\begin{equation*}
\psi_{x x}=\mathcal{A} \psi \quad \psi_{t}=-\frac{1}{2} \mathcal{B}_{x} \psi+\mathcal{B} \psi_{x} \tag{10}
\end{equation*}
$$

where again the coefficients $\mathcal{A}$ and $\mathcal{B}$ depend on the field variables and the spectral parameter $\lambda$, with the result that the condition $\left(\psi_{x x}\right)_{t}=\left(\psi_{t}\right)_{x x}$ yields

$$
\begin{equation*}
\mathcal{A}_{t}-2 \mathcal{B}_{x} \mathcal{A}-\mathcal{B} \mathcal{A}_{x}+\frac{1}{2} \mathcal{B}_{x x x}=0 \tag{11}
\end{equation*}
$$

Now the squared basis function

$$
\begin{equation*}
\tilde{g}=\psi^{+} \psi^{-} \tag{12}
\end{equation*}
$$

is built from two basis solutions $\psi^{ \pm}$of the second-order differential equation. It satisfies the equations

$$
\begin{equation*}
\tilde{g}_{x x x}-2 \mathcal{A}_{x} \tilde{g}-4 \mathcal{A} \tilde{g}_{x}=0 \quad \tilde{g}_{t}=\mathcal{B} \tilde{g}_{x}-\mathcal{B}_{x} \tilde{g} \tag{13}
\end{equation*}
$$

which have the first integral

$$
\begin{equation*}
\frac{1}{2} \tilde{g} \tilde{g}_{x x}-\frac{1}{4} \tilde{g}_{x}^{2}-\mathcal{A} \tilde{g}^{2}=\tilde{P}(\lambda) \tag{14}
\end{equation*}
$$

where again the integration constant in the right-hand side can only depend on the spectral parameter $\lambda$, and the second equation (13) gives at once the generating function for the conservation laws:

$$
\begin{equation*}
\left(\frac{1}{\tilde{g}}\right)_{t}=\left(\frac{\mathcal{B}}{\tilde{g}}\right)_{x} \tag{15}
\end{equation*}
$$

The ratio

$$
\begin{equation*}
\tilde{\Gamma}=\psi_{x} / \psi \tag{16}
\end{equation*}
$$

satisfies the equations

$$
\begin{align*}
& \tilde{\Gamma}_{x}=\mathcal{A}-\tilde{\Gamma}^{2}  \tag{17}\\
& \tilde{\Gamma}_{t}=\left(\mathcal{B} \tilde{\Gamma}-\frac{1}{2} \mathcal{B}_{x}\right)_{x} \tag{18}
\end{align*}
$$

where (17) yields the recursion relation for coefficients of the series expansion in powers of $\lambda^{-1}$ and (18) gives the generating function for the conservation laws.

The similarity of these two sets of formulae for the cases of a matrix, on one hand, and a scalar, on the other, is quite evident and it is natural to ask whether a connection exists between these two representations of integrable equations. Of course, it is known from general theory of ordinary differential equations (ODE) that any system of $N$ first-order ODE can be converted into one scalar ODE of the $N$ th order, and vice versa. However, transformation of these scalar equations into standard form (10) requires redefinition of an unknown function and turns out to be quite cumbersome. We have not succeeded in finding any publications with simple and general proofs of equivalence of these two forms of spectral problem (1) and (10) and the corresponding compatibility conditions. For a particular case of the NLS equation, such a relationship was studied by Alber [5] and the connection of the inverse scattering problem with an energy-dependent potential with the Zakharov-Shabat inverse scattering problem was discussed by Jaulent and Miodek [6]. The aim of this letter is to provide simple formulae which directly connect the matrix problem (1) with the second-order scalar problem (10). These formulae permit one to translate all results from one form to another and, in particular, they have direct application to quasiclassical analysis of asymptotic solutions of wave equations described by the $2 \times 2$ matrix scheme [7].

A clue to finding the desired relationship between equations (1) and (10) is provided by a comparison of the expressions for the solutions of these equations in terms of the squared basis functions. It is easy to check that the function

$$
\begin{equation*}
\psi^{ \pm}=\sqrt{\tilde{g}} \exp \left( \pm \mathrm{i} \sqrt{\tilde{P}(\lambda)} \int^{x} \frac{\mathrm{~d} x}{\tilde{g}}\right) \tag{19}
\end{equation*}
$$

satisfies the first equation (10) provided that $\tilde{P}(\lambda)$ satisfies equation (14). An analogous expression has been found by one of us in the recent letter [8] for solutions of equations (1):

$$
\begin{equation*}
\psi_{1}^{ \pm}=\sqrt{g} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{G}{g} \mathrm{~d} x\right) \tag{20}
\end{equation*}
$$

where $P(\lambda)$ satisfies equation (5), and a similar formula can be written for $\psi_{2}^{ \pm}$in terms of $h$ and $H$ :

$$
\begin{equation*}
\psi_{2}^{ \pm}=\sqrt{-h} \exp \left( \pm \mathrm{i} \sqrt{P(\lambda)} \int^{x} \frac{H}{h} \mathrm{~d} x\right) \tag{21}
\end{equation*}
$$

It is easy to see that we can make equations (19) and (20) coincide with each other by putting

$$
\begin{equation*}
g=G \tilde{g} \quad \psi_{1}^{ \pm}=\sqrt{G} \psi^{ \pm} \tag{22}
\end{equation*}
$$

provided that the constants $P(\lambda)$ and $\tilde{P}(\lambda)$ in equations (5) and (14), respectively, are also the same. To make them equal to each other, we express $f$ and $h$ in terms of $\tilde{g}$ with the use of equations (4) and (22):

$$
\begin{align*}
& f=-\frac{\mathrm{i}}{2}\left[\left(G_{x} / G-2 F\right) \tilde{g}+\tilde{g}_{x}\right] \\
& h=\frac{1}{G}\left\{\frac{1}{2}\left[\left(2 F-G_{x} / G\right)_{x} \tilde{g}-\left(2 F-G_{x} / G\right) \tilde{g}_{x}+\tilde{g}_{x x}\right]+G H \tilde{g}\right\} \tag{23}
\end{align*}
$$

and substitute (22) and (23) into equation (5) to obtain

$$
\begin{equation*}
\frac{1}{2} \tilde{g} \tilde{g}_{x x}-\frac{1}{4} \tilde{g}_{x}^{2}-\left[\left(F-G_{x} / 2 G\right)^{2}+G H+\left(F-G_{x} / 2 G\right)_{x}\right] \tilde{g}^{2}=P(\lambda) \tag{24}
\end{equation*}
$$

Comparison with equation (14) shows that $P(\lambda)$ and $\tilde{P}(\lambda)$ become equal if we take

$$
\begin{equation*}
\mathcal{A}=\left(F-G_{x} / 2 G\right)^{2}+G H+\left(F-G_{x} / 2 G\right)_{x} . \tag{25}
\end{equation*}
$$

In a similar way, comparison of the first equation (6) with (15) yields

$$
\begin{equation*}
\mathcal{B}=B / G \tag{26}
\end{equation*}
$$

To complete the conversion of equations (1) into the form (10), we have to prove that the compatibility conditions (2) and (11) are also equivalent to each other. To this end, we express $A$ and $C$ in terms of the other matrix elements by means of the first two equations (2) and substitute these expressions into the third equation (2). Then straightforward calculation shows that the resulting equation multiplied by $G$ is equal to equation (11) with $\mathcal{A}$ and $\mathcal{B}$ given by equations (25) and (26), respectively. Thus, the matrix system (1) is transformed into the scalar form (10) where $\mathcal{A}$ and $\mathcal{B}$ are expressed in terms of matrix elements of (1) by the formulae (25) and (26), respectively.

It is easy to show that the second equation (22) leads to the transformation formula

$$
\begin{equation*}
\tilde{\Gamma}=F-G_{x} / 2 G+G \Gamma \tag{27}
\end{equation*}
$$

which together with (2), (25) and (26) transforms equations (17) and (18) into equations (8) and (9), respectively.

In a similar way, equation (19) can be reduced to (21) by

$$
\begin{equation*}
h=H \tilde{g} \quad \psi_{2}^{ \pm}=\mathrm{i} \sqrt{H} \psi^{ \pm} \tag{28}
\end{equation*}
$$

and then instead of equations (25), (26) we obtain

$$
\begin{align*}
& \mathcal{A}=\left(F+H_{x} / 2 H\right)^{2}+G H-\left(F+H_{x} / 2 H\right)_{x}  \tag{29}\\
& \mathcal{B}=C / H \tag{30}
\end{align*}
$$

what restores the symmetry between $G$ and $H$.
Let us illustrate the proven relationship with several examples.
As the first example, we take the NLS equation

$$
\begin{equation*}
\mathrm{i} u_{t}+u_{x x} \pm 2|u|^{2} u=0 \tag{31}
\end{equation*}
$$

for which the relevant matrix elements in (1) are given by

$$
\begin{equation*}
F=-\mathrm{i} \lambda \quad G=\mathrm{i} u \quad H= \pm \mathrm{i} u^{*} \quad B=2 \mathrm{i} u \lambda-u_{x} \tag{32}
\end{equation*}
$$

where the two signs correspond to the focusing and defocusing nonlinearities, respectively. Then according to equations (25) and (26), the NLS equation (31) can be presented as a compatibility condition for equations (10), where

$$
\begin{align*}
& \mathcal{A}=-\left(\lambda-\mathrm{i} u_{x} / 2 u\right)^{2} \mp|u|^{2}-\left(u_{x} / 2 u\right)_{x}  \tag{33}\\
& \mathcal{B}=2 \lambda+\mathrm{i} u_{x} / u
\end{align*}
$$

These formulae coincide exactly with those found by Alber [5].
As a less familiar example, we take the derivative NLS (DNLS) equation

$$
\begin{equation*}
\mathrm{i} u_{t}+u_{x x}-2 \mathrm{i}\left(|u|^{2} u\right)_{x}=0 \tag{34}
\end{equation*}
$$

for which [9]

$$
\begin{array}{ll}
F=-2 \mathrm{i} \lambda^{2} & G=2 \lambda u  \tag{35}\\
B=8 \lambda^{3} u+\lambda\left(2 \mathrm{i} u_{x}+4|u|^{2} u\right) & H=2 \lambda u^{*}
\end{array}
$$

and hence

$$
\begin{align*}
& \mathcal{A}=-\left(2 \lambda^{2}-\mathrm{i} u_{x} / 2 u\right)^{2}+4 \lambda^{2}|u|^{2}-\left(u_{x} / 2 u\right)_{x} \\
& \mathcal{B}=4 \lambda^{2}+2|u|^{2}+\mathrm{i} u_{x} / u \tag{36}
\end{align*}
$$

The NLS and DNLS equations written in 'complexified' form are related to each other by a gauge transformation found in [10]. Let us show that this transformation is consistent with corresponding scalar forms of spectral problems. Now we write the complexified NLS and DNLS equations in the notation of [10], so that the NLS equations

$$
\begin{align*}
& \mathrm{i} q_{1 t}+q_{1 x x}-2 r_{1} q_{1}^{2}=0 \\
& \mathrm{i} r_{1 t}-r_{1 x x}+2 r_{1}^{2} q_{1}=0 \tag{37}
\end{align*}
$$

correspond to the matrix form (1) with

$$
\begin{equation*}
F_{1}=-\mathrm{i} \lambda^{2} \quad G_{1}=q_{1} \quad H_{1}=r_{1} \quad B_{1}=\mathrm{i} q_{1 x}+2 \lambda^{2} q_{1} \tag{38}
\end{equation*}
$$

and the DNLS equations

$$
\begin{align*}
& \mathrm{i} q_{2 t}+q_{2 x x}-\mathrm{i}\left(r_{2} q_{2}^{2}\right)_{x}=0 \\
& \mathrm{i} r_{2 t}-r_{2 x x}-\mathrm{i}\left(r_{2}^{2} q_{2}\right)_{x}=0 \tag{39}
\end{align*}
$$

correspond to (1) with

$$
\begin{array}{lll}
F_{2}=-\mathrm{i} \lambda^{2} & G_{2}=q_{2} & H_{2}=r_{2} \\
B_{2}=2 \lambda^{3} q_{2}+\lambda\left(\mathrm{i} q_{2 x}+r_{2} q_{2}^{2}\right) . & \tag{40}
\end{array}
$$

These two spectral problems are connected by the gauge transformation [10] leading to the following connection between the field variables:

$$
\begin{align*}
& q_{1}=\left(q_{2} / 2\right) \exp \left(-\mathrm{i} \int^{x} r_{2} q_{2} \mathrm{~d} x\right)  \tag{41}\\
& r_{1}=\left(-\mathrm{i} r_{2 x}+r_{2}^{2} q_{2} / 2\right) \exp \left(\mathrm{i} \int^{x} r_{2} q_{2} \mathrm{~d} x\right)
\end{align*}
$$

Equations (25) and (26) give the corresponding forms of scalar spectral problems with

$$
\begin{align*}
& \mathcal{A}_{1}=-\left(\lambda^{2}-\mathrm{i} q_{1 x} / 2 q_{1}\right)^{2}+q_{1} r_{1}-\left(q_{1 x} / 2 q_{1}\right)_{x}  \tag{42}\\
& \mathcal{B}_{1}=2 \lambda^{2}+\mathrm{i} q_{1 x} / q_{1}
\end{align*}
$$

for the NLS equations (37), and with

$$
\begin{align*}
& \mathcal{A}_{2}=-\left(\lambda^{2}-\mathrm{i} q_{2 x} / 2 q_{2}\right)^{2}+\lambda^{2} q_{2} r_{2}-\left(q_{2 x} / 2 q_{2}\right)_{x} \\
& \mathcal{B}_{2}=2 \lambda^{2}+r_{2} q_{2}+\mathrm{i} q_{2 x} / q_{2} \tag{43}
\end{align*}
$$

for the DNLS equations (39), respectively. Now simple calculation shows that formulae (42) transform after substitution of (41) into formulae (43) as one should expect for consistency of matrix and scalar representations.

As the last example, we consider the uniaxial ferromagnet equation

$$
\begin{equation*}
\boldsymbol{S}_{t}=\boldsymbol{S} \times \boldsymbol{S}_{x x}+J(\boldsymbol{S} \cdot \boldsymbol{n})(\boldsymbol{S} \times \boldsymbol{n}) \tag{44}
\end{equation*}
$$

where $\boldsymbol{S}=\left(S_{1}, S_{2}, S_{3}\right)$ is the classical magnetization vector of unit length, $|\boldsymbol{S}|=1$, and $\boldsymbol{n}$ is a unit vector along the axis of easy magnetization. In this case we have [11]

$$
\begin{align*}
& F=-\frac{\mathrm{i}}{2} \lambda S_{3} \quad G=-\frac{\mathrm{i}}{2} \sqrt{\lambda^{2}+J} S_{-} \quad H=-\frac{\mathrm{i}}{2} \sqrt{\lambda^{2}+J} S_{+} \\
& B=\frac{\mathrm{i}}{2} \lambda \sqrt{\lambda^{2}+J} S_{-}+\frac{1}{2} \sqrt{\lambda^{2}+J}\left[\left(S_{3}\right)_{x} S_{-}-S_{3}\left(S_{-}\right)_{x}\right] \tag{45}
\end{align*}
$$

where $S_{ \pm}=S_{1} \pm \mathrm{i} S_{2}$, and hence
$\mathcal{A}=-\frac{1}{4}\left(\lambda S_{3}-2 \mathrm{i}\left(S_{-}\right)_{x} / S_{-}\right)^{2}-\frac{1}{4}\left(\lambda^{2}+J\right) S_{+} S_{-}-\frac{\mathrm{i}}{2}\left(\lambda S_{3}-2 \mathrm{i}\left(S_{-}\right)_{x} / S_{-}\right)_{x}$
$\mathcal{B}=-\lambda+\mathrm{i} S_{-}\left(S_{3} / S_{-}\right)_{x}$.
In the limit $J=0$ we obtain the classical Heisenberg model which is also connected with the NLS equation by gauge transformation [10,12]. It is easy to derive analogous formulae for many other equations. Generally speaking, the resulting second-order equation corresponds to a complex 'potential'. An example of inverse scattering transform theory with a complex potential is given in [13].

In conclusion, we note that scalar representation is more convenient for studying the weakdispersion (quasiclassical) limit and corresponding asymptotic solutions of wave equations [7], whereas the symmetric matrix form is better suited for obtaining periodic solutions and Whitham modulational equations (see, e.g., [4]). The connection established here between the two representations permits one to use the advantages of both methods.

We are grateful to the referee for helpful remarks. AMK is grateful to the staff of Instituto de Física Teórica, UNESP, where this work was done, for kind hospitality. The authors were partially supported by FAPESP (Brazil). AMK thanks also RFBR (grant 01-01-00696) and RAK thanks CNPq (Brazil) for partial support.

## References

[1] Zakharov V E and Shabat A B 1973 Sov. Phys.-JETP 3462
[2] Ablowitz M J, Kaup D J, Newell A C and Segur H 1974 Stud. Appl. Math. 53249
[3] Wadati M, Konno K and Ichikawa Y-H 1979 J. Phys. Soc. Japan 461965
[4] Kamchatnov A M 2000 Nonlinear Periodic Waves and their Modulations-an Introductory Course (Singapore: World Scientific)
[5] Alber S J 1993 Complex deformations of integrable Hamiltonians over generalized Jacobi varieties Nonlinear Processes in Physics ed A S Fokas, D J Kaup, A C Newell and V E Zakharov (Berlin: Springer) p 6
[6] Jaulent M and Miodek I 1977 Lett. Nuovo Cimento 20655
[7] Kamchatnov A M, Kraenkel R A and Umarov B A 2001 Phys. Lett. A 287223
[8] Kamchatnov A M 2001 J. Phys. A: Math. Gen. 34 L441
[9] Kaup D J and Newell A C 1978 J. Math. Phys. 19798
[10] Wadati M and Sogo K 1983 J. Phys. Soc. Japan 52394
[11] Borovik A E and Robuk V N 1981 Teor. Mat. Fiz. 46371
[12] Zakharov V E and Takhtajan L A 1979 Teor. Mat. Fiz. 3826
[13] Wadati M 1975 J. Phys. Soc. Japan 38673 Wadati M 1975 J. Phys. Soc. Japan 38681

